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Soil investigation at abutment 6 (= considered abutment)

T UNGEFARLIGT LAGE BROSTOD 6

< W01 / W00
) T S8 VT
Jo-Tob <39 Vb Jo-Tot +60
B = Ph= = ’}'I.f.f= = = = A s s = :g':;.iSa i
T kPa (okorrigerad) Wattenkvol w %
— 0 10 20 EY] 40 20 40 a0 B0
Let =H | -
100 N
— C 015 |
SULE - ;
B 050 7
+f) ale 7
|
- |
|
o7 |
N 075 |
i I
|
— ! | |
| 100 |
{ 075
-5
100
| - 5
— —t——d h] = . - 542
_:‘x'“' 10 20 30 40 50
- ,5 hv/020m
. e
 — ? +
5/0.20m
; W50
I </ 0.20m
5

1100

SEKTION C-C

-0

=]



Soil investigation at abutment 7 (= at 27 m distance from the considered abutment)
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